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Year group: 5

Type of test: End of Half Term

Term: Autumn 1

Test content: Arithmetic

Power Maths topic: Book 5A, Units 1–3

Test duration: 25 minutes

Name: 

Class: 

Date: 
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1  90 − 38 =

  [1 mark]

2  286 + 4,000 =

  [1 mark]
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3  64 +  = 670

  [1 mark]

4  572 − 89 =

  [1 mark]
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5  6,002 + 12,999 =

  [1 mark]

6  920,003 = 900,000 +  + 3

  [1 mark]
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7  362,401 +  = 462,401

  [1 mark]

8  17,111 =  + 7,000 + 100 + 10 + 1

  [1 mark]
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9  300,000 − 60  =

  [1 mark]

10  5,289 + 53,046 =

  [1 mark]
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11  51,942 − 17,427 =

  [1 mark]

12  86,375 + 29,428 =

  [1 mark]
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13  XX − V =

  [1 mark]

14  84,713 − 927 =

  [1 mark]

Pack_creation_Y5_Test.indd   15 12/04/19   4:07 PM



16 © Pearson Education Ltd 2019. Copying permitted for purchasing institution only. This material is not copyright free. 

15  433,189 = 400,000 +  + 3,000 + 100 + 80 + 9

 

  [1 mark]

16  909,000 −  = 899,000 

  [1 mark]
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17  600,000 + 23,000 =

  [1 mark]

18  48,575 + 27,349 =

  [1 mark]
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20  274,000 + 27,400 + 2,740 + 274 =

  [1 mark]

19  Write the correct sign (<, = or >) in each circle.

              567,567  567,576

 45,245 + 54,755  99,999

             356,098  360,100 – 4,001

  [2 marks]
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21  174,265 − 2,518 =

  [1 mark]

22  12,536 +  + 21,439 = 34,670

  [2 marks]
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23  452,000 − 28,612 =  − 72,456

  [2 marks]

Pack_creation_Y5_Test.indd   20 12/04/19   4:07 PM




